(ZHi DER)

X5 INR S FHE | REHE # R & =
1 Ri& 1,123,000 1,137,025 14,025
1 RBE 1,123,000( 1,137,025 14,025\ EIE 52 AR E ERE HRE B
2 EHERAE 4,400,000 4,400,000 0
1 EBERE 4,400,000 4,400,000 O|EHZRELLTBRRMHA
3 ik & 190,000 8,950/ A 181,050
1 ik & 190,000 8,950 A 181,050|FHRKkE
4 FHE 1,550,000 863,835 A 686,165
1 HERE 100,000( 153,162 53,162|EHICHNDHEREHEAK
2 BIEERE 200,000 99,206| A 100,794 |ERk¥t. BEE, I7 VAR E AR
3 FIRISAE 900000] 297907 A 602,003| /AT R, JE =5
4 KBKE 300,000( 300,000 O|EBRER KEZHEAH
5 # & 50,000 13,560 A 36,440|BHEE
5 RESEFERE 11,801,000( 10,638,095 A 1,162,905
1 RESFEHEXRZ 2,000,000 837,095 A 1,162,905|BEE %
2 PHRRELHESR 1,349,000| 1,380,984 31984(REFHEE
3 REMRBHER 739,000 619,135 A 119,865|RFEE%
4 RELIHHESR 829,000 697,934| A 131,066|RFFXE%
5 #HBRIELEHESR 1,039,000| 858,609 A 180,391|RFiEEE
6 O0-1FRFFHES 1,399,000 1,326,072| A 72,928|RFHAE%
7 FECXEEMBHESR 749,000 716927 A 32,073|RFEEX
8 IHERELHHER 1,449,000 1,328,599 A 120401|RFFAE%
9 BERREHER 1,499,000 1,448,162| A 50,838|RFXE%
10 RELTEFRERREZIF—| 749,000 1,424,578 675578|RETEE
6 REFXELTRE 4,265,000 4,505,002 240,002
1 REAEHRE 140,000 0| A 140,000(AEME L - HHE
2 RERERHESE 60,000 60,000 O|9HE- REFHEREHREHESE
3 RENEREMELE 116,000 59,140 A 56,860\ s A 2D SEICR T —
4 2ERENEIRESEEE| 2,000,000| 1,324,100 A 675900|£ERHE. EERSEHERE
5 WETIRERERSE 649,000| 2,267,873| 1618873 Rt —F —tIF—BIERES
6 KBHLIRE 1,050,000 578569 A 471,431 ﬁmj‘ﬁsg‘f;}fb\éggf’f?jjfpﬁg
7 EEAER 250,000 215320 A 34,680 Hmﬁ\mﬁém HE
7 Bim# 300,000 93,000 A 207,000
1 BEFBEMRE 300,000 93,000 A 207,000|{RBEFRELESE
8 RiEE 3,220,000/ 3,180,900 A 39,100
1 2EREHESAES 1,600,000( 1,600,000 0|2ELE
2 2ERELT=AES 1,320,000 1,280,900 A 39,100|2E<%
3 RiimaiEs 300,000 300,000 O|BRRMIBEAKEEELLT
9 FlHE 2,553,000 0| A 2,553,000
1 FliEE 2,553,000 0| A 2,553,000
10 REERBRHE 0 5235269 5,235,269
1 REFFHE 0| 5235269 5,235,269
=) &t 29,402,000| 30,062,076 660,076




